43475 &Roco— Ersatztelliste
43577 Replacement Parts

Pos.
Nr.

Text Art-Nr.

Press-
< lanpps

1| Universalkupplung 89282 :
Universal coupling _®
Attelage universel '

2 | Zylinderkopfschraube M 2x6 B5672 2 6
Cheese headed screw M 2x6
Vis d téte cylindrique M 2x6

3 | Zylinderkopfschraube M 2x18 85679 2
Cheese headed screw M 2x18
Vis d téte cylindrigue M 2x18

4 | Zahnrad z=17I, m 0,4 86408 2
Gear T=17; m 0,4
Pignen & 17 dents, module 0,4

5 | Zahnrad z=23r;, m 0,4 86420 2
Gear T=23r; m 0,4
Pignon & 23 dents, module 0,4

6 | Zahnrad mit Achse B6421 5
Gear with axle
Pignon monte sur abre

7 | Platine 87678 |36
Printed circuit
Circuit imprimé

8 | Radsatz 90629 |16
Wheelset
Essieu

9 | Lokboden 95371 |23
Gears cover
Couvercle d'engrenage

10 | Wippe 95372 |10
Rocker arm
Balangoire

11 | Kupplungshalter 95373 3
Holder for coupling
Support d'attelage

12 | Zuristbeutel fir 43475 95975 |15

Bag with accessories for 43475
Sachet de piéces definition f. 43475
13 | Zuristbeutel fir 43577 100755 |23
Bag with accessories for 43577
Sachet de piéces definition 43577
14 | Lampenhalter 100758 2

Lamp holder
Couvercle pour feux

0. Abb. [ noill.
Zuristbeutel

Bag with accessories

e - ae
Bl -ae

Blatt 607/2
Page 607/2



